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Instructions :
The question paper has 35 questions in all. All questions are compulsory.
Marks are indicated against each question.

Questions from serial number 1 - 16 are multiple choice Questions (MCQ) of 1 mark each.
Every MCQ is provided with four alternatives. Write the correct alternative in your answer
book.

Questions from serial number 17 to 27 are 3 marks questions. Answer of these questions
should not exceed 80 words each.

Questions from serial number 28 to 34 are 4 marks questions. Answer of these questions
should not exceed 100 words each.

Question number 35 is a map question of 3 marks from Geography only. After completion,
attach the map inside your answer book.
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NOTE: Q.NO.1, 2, 3, 4 from any one of the following groups A, B and C.

GROUP - A
1.  Imperial Forest Research Institute was set up at :
(a) Dehradun (b) Guwhati
(c)  Chattisgarh (d) Shimla

2.  In Blandongdiensten System :
(a) Villages were exempted from taxes.
(b) Villages worked collectively to provide free labour.
() Animals were used for cutting and transporting timber
(d) All of the above.

3.  Who are Bhotiyas, Sherpas and Kinnayris ?
(a) Pastoral community of Africa.
(b) Cattle herders of Rajasthan.
(c) Shepherd Community of Maharashtra .
(d) Pastoral Communities of the Himalayas.

4. The word Maasai means :
(a) my people (b) pasture land
(c) shifting cultivation (d) waste land

GROUP - B

1. Who are Bhotiyas, Sherpas and Kinnayris ?
(a) Pastoral community of Africa.
(b) Cattle herders of Rajasthan.
(c) Shepherd community of Maharashtra
(d) Pastoral communities of the Himalayas.

2. The word Maasai means :
(a) my people (b) pasture land
(c)  shifting cultivation (d) waste land

3.  In 1831 Mechanical reaper was invented by :

(@) Cyrus McCormic (b)  Dietrich Brandis
(c) Alexander Hogue (d) None of the above
4. In the 17th century farmers began growing turnip and clover because :

(@) They proved a good fodder for cattle

(b) They increased nitrogen content of the soil
(c) It was economically benificial for farmer
(d) None of the above
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GROUP - C

1.  Imperial Forest Research Institute was set up at :
(@) Dehradun (b) Guwhati
(c)  Chattisgarh (d) Shimla

2.  In Blandongdiensten System :
(a) Villages were exempted from taxes.
b)  Villages worked collectively to provide free labour.

(
(c)  Animals were used for cutting and transporting timber
(d) All of the above.

3.  In 1831 Mechanical reaper was invented by :

(@) Cyrus McCormic (b)  Dietrich Brandis
(c) Alexander Hogue (d) None of the above
4. In the 17th century farmers began growing turnip and clover because :

(@) They proved a good fodder for cattle

(b) They increased nitrogen content of the soil
(c) It was economically benificial for farmer
(d) None of the above

5.  Ebony and Rosewood trees are found in the areas of rainfall :
(@) more than 200 cm (b) more than 100 cm
() more than 70 cm (d) less than 50 cm
6.  The most populous state of India is :
(a) Kerala (b) Bihar (c) Uttar Pradesh (d) West Bengal
7.  Who appoints Election Commission of India ?
(@) The Prime Minister (b) The President
(¢) The Vice President (d) None of the above
8.  The boundaries of a constituency is decided on the basis of :
(a) population (b) culture
(c) language (d) number of villages

9.  Which of these is not relevant of the country of Saudi Arabia ?
(@) The form of government is Monarchy.
(b) Citizens cannot form political parties.
(c) People have the right to openly follow any religion.
(

d) Women are subject to many public restrictions.

087/IX/SA2/34/ Al 3



10.

11.

12.

13.

14.

15.

16.

17.

18.

Which of these is not allowed under the Cultural and Educational Right in India ?
(@) Every Cultural group has the right to protect it's language and culture.

(b) Admissions can be denied on the basis of religion and culture in Government
aided educational organizations set up by Cultural groups.

(c)  All minority groups have the right to establish educational institutions of their
choice.

(d) None of these

The current anti poverty program consists of two planks, they are :
(@) Socio economic reasons and public distribution system.

(b) Promotion of economic growth and targeted poverty program.
(c) Anti poverty program and public distribution system.

(d) None of the above.

In 2000 the percentage of people below poverty line in India was :
(@) 26% (b) 46%
(c) 56% (d) None of the above

Buffer stock of food grain is procured by :
(a)  Fair price shop (b) State Government
(c) Food corporation of India (d) None of the above

Poverty has resurfaced in :
(a) Latin American countries (b) Sub Saharan countries
() Russia (d) None of the above

Bombing of Hiroshima was :
(a) Biological disaster (b) Chemical disaster
(¢) Nuclear disaster (d) None of the above

The most important role of BDO, as preparedness to a disaster is :

(a) To give First Aid

(b) Guide and support the village to form a Disaster Management plan.
(c) To ensure water and electricity

(d) None of the above

Why it is said that the battle of Waterloo was won on the playing field of Eton ? Explain
OR

Distinguish between man and woman on the basis of style of clothing in Victorian
England.

In the matter of protective equipment cricket has been influenced by technological
changes. Prove this statement with suitable arguments.

OR
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19.

20.

21.

22,

23.

24.

25.

26.

27.

“French Revolution ended all the distinctions imposed by the Sumptuary laws”. 3
Describe.

What are the elements of weather and climate ? Distinguish between weather and
climate. 2+1=3

Explain three steps taken by the government to protect the wildlife. 1x3=3

What are the two types of migration ? How is migration considered an important
determinant of population change ? 1+2=3

Why do we need institutions for governing a country ? 3x1=3

What are the three specific evils declared illegal by the Indian Constitution under the
‘Right Against Exploitation’. 3x1=3

Who are the most vulnerable group as far as poverty is concerned ? Explain the poverty

line suggested by World Bank. 1+2=3
Food security essential in India, justify the statement. 3
Explain any three ways to protect ourselves from a nuclear disaster. 3x1=3

How does the disaster management plan help the community to prepare for
disasters ? Explain. 3

NOTE: Answer Q.No. 28 and 29 from any one of the following Groups A, B and C.

28.

29.

28.

29.

28.

29.

GROUP - A
“A growing population in England was responsible for deforestation in India”. Justify 4
the statement.
Explain the factors that the pastoralist had to consider to sustain their life. 4
GROUP - B
Explain the factors that the pastoralist had to consider to sustain their life. 4
Explain any four factors that encouraged the Enclosure system. 4x1=4
GROUP - C
“A growing population in England was responsible for deforestation in India”. 4
Comment.
Explain any four factors that encouraged the Enclosure system. 4x1=4
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30. Define ‘Kaal Baishakhi’ and ‘Loo” ? In which parts of India are they experienced ? 2+2=4

31. What are the limitations and challenges of Indian elections ? Explain any four. 4x1=4
32. Why is the Prime Minister the most powerful man in the government ? Explain. 4
33. NREGA 2005 is an important anti poverty program. Explain. 4
34. Explain any two causes that made Public Distribution System so ineffective. 2+2=4

35. Three features A, B and C are shown in the outline political map of India. Identify
these features with the help of following information and write their correct names on
the lines marked in the map. 3x1=3

(A)
(B)
(©

Type of Forest.

Meteorological Station.

The state having highest sex ratio.
OR

Locate and label the following items on the same map of India with appropriate symbols.

(1)
(i)
(iif)

The state having lowest density of population. 3x1=3

Kaziranga - National Park.

A Meteorological station of Maharashtra.

NOTE : The following questions are for the BLIND CANDIDATES only, in lieu of
question number 35. 3x1=3
(35.1) Name the forest found in Jammu and Kashmir.
(35.2) In which state is Simlipal National Park located ?
(35.3) Which state has lowest sex ratio ?
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T : W9 W@ 1, 2, 3, Td 4 o1 SR FAfeRad aqg o1, o ud @ o 9 fordt tes | 2
qHg - 3
1. 3eifed v e SR &) s we g ?
(a) <R (b) e (c) BwTE (d) fewen

2. ASMTETRA e H :
(a)  TTHTON ol o 9 9 e K faan |
(b) U HekigH <7 % foIT wfes 9 9 S *d 9 |
(c) SHaX ol The! e T8 o H SIS fohall ST |
(d) S |

3. ofifean, I, SR Rk & 92

(a)  3TShIhI Sh1 SXETE THGH | (b)  TSTEATA I UY UTCA |

(c) VRN & TfeA THIH | (d) TeHTerd w1 =RaTE 9 |
4. HEE 95 61 AL A1 E ¢

(@) HEm (b) TRITE

(c) T iy (d) R SHH

- o

1. fifean, IR, iR foweidt o & 2

(a)  3TShIhI Shl =ETE THGH | (b)  TSTEATH I UY UTCA |

(c) VRN & TfeA THSH | (d) TeHTerd w1 =RamE 9HSH |
2. HEE vsg o A BT

(@) TR (b) TRTE

(c) FMI iy (d) R SHH
3. 1831 H THd e el A 1 AfashR fehdq fomam ?

(a) URRE et (b) eEfew sifew

O NESEEE (d) T | HE T

4. 17 w1 H fREmi 7 voreM wd faufaen =me e e e Fifes
(a) THH AN sl =R fHerd o |
(b) =8 T RIS T AN St off |
(c) % fhumi & fau enfees &9 § wRQHS o |
(d) 379§ RE T |
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g -
it v e SR i 2o e g 2
(a) <= (b) TERd (c) TETg (d)

ST TA Je §

IO Rl A A W Fad w e

T Haagd <F o foe Afes 9 9w i 9|
Sl Sl RSl Fled Td @ H SIS foha Siran Tl

a
b

C

~—~ ~—

o~ o~ o~ o~
~—

d) STl |t

1831 W A h1e Tt A ol STfoshR e fohan 2

(a) PR S (b) emfza dfew
() STt B (d) T q HE T

17 off @<t # forei A wiersm wa fafaan =m s 3% fohan =iife -
(a) THY HAE I = e o |

(b) =E9 fogt & SIS BT A St off |

() % fRumi & fau onfees &9 ¥ wEHT o |

(

d) =TH 9§ hE T |

TaMT T ASgS FT Tohd Thw hi i et & H a1 S § 2

(a) 200 9=t ¥ e | (b) 100 Tt | feren |
(c) 70 9+t 9 sifeen | (d) 50 9 | |

YR o1 Gord Aeh SHEE1 a1l 69 © ¢

(a) (b) fo=R (c) W YW (d)
IR B g 3TN i ot i iar & 2

(a) 9u™ =l (b) gufd

(c) SHIgHfd (d) T Y ®E T

fratem &1 =t dimn frgen R w fuffa 2 82

(a) SEEET (b) EERd

(c) o (d) TITE B gE

Q! 3 & G H frfafed o 6 o i T8 2
(a) TSIdsITCHS EhN |

(b) TARTRER TS T Tl o1 Tohdl |

(c) TN ! Gol &9 9 fordl off & =l 7 1 TR |
(d) wfeasl W % FESh giaed |
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10. HiEHaE Te e IR % st frfafe § 9 78 e ?
(a) |t AFTRERT Rl SO HERd Ta 7o R &I R AR |
(b) TR TRl W Fih eh T@l g1 weia formeri # o T Hehfa o SR o yow
H B HTAT
(c) Wt STeTEEAR THIHI hi STUH THG I Wfeeh T TNfua L 1 AfHR |
(d) TTH HHE TE

11.  SHH TIs S HHEHT % T 78] hiF 9 7?2
a) WM e R0 & 59 faawor gormet |
b) 3Tk Hofg wal wfara felaan et swriswa |

(
(
(c) RIS Iqe HrishH Ta S faawor gomed |
(

d) T HHE T
12. 2000 ¥ wRd H Tl a1 | = ARl w1 gfderd fham on ?

@) 26% (b) 46%

) 56% (d) T 9 FE TR
13. TR 1 I @ik fhHh GRI SUCTsd HIT STl ¢ ?

(a) 3fud g T ghH | (b) TSF TR |

(c) YR @@ frm | (d) SR H HIE & |
14. Frafafea § 3 feg am & wWiet ag T § 2

(a) fe sTafnt <@ (b) TS TERI |

() ®9I (d) T @ HE T
15. feUfm ® avar of

(a) Sifaes smu=T| (b) TR ST

(c) TfHeRIT SATTeT| (d) TTH 9 FE TR |

16. 39Sl § fued &t Tt § ywis fasm weifenit st yq@ fies #n 2
(a) WATHF STAR <
(b) TR YeE AT TR HLA § WO o1 FE91 Td @ < |
(c) Ul wd fosiet giafeed e |
(d) ZTH H HE T

17. i TR Hgl Sl ¢ foh ' A1eXe] 1 g5 5 o Wl o HeM H S T 1" S it |
3rerar
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18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

faRIfEr grefe aftem Sieft & SeR R geul T Afsansii § 9 Hifv)

“fohche o TEwhTSI HISI-HTHA W Tehrieh! SGalTel Sl Hel TR 91 g1 e i gfte Suge
Teh ST hITIT |

srorar
TRIGTE shifd = FF=3T8 A o NI TR T §T 9SHTe o1 31d e feam | gl wifsw )

Y T ey % A 9 T § 2 HIGH Td Soarg # i T it | 2+41=
T 9 i GRaN & folu TRehR gR1 33/ Y o=l <fie1 i ki e Shifee | 3x1=
T % < YRR BF ¥ €2 TEE Iad § R YRR 6 T Heayul R 9 €2 1+2=

T T I T T & ToTT g8 Tl sl eTevaehd @i gedl § 2 3x1=

T % foeg SIfHER o SAaia aRdE Sfay™ gR fohd 91 el &1 TR =i foran =

%-) 3x1=

Tl it gfieshion & Had STgRfaa WE ®F 9 € 2 fava d@ gr wfawfed Tt Y@ st smen

FifeT | 1+2=

* e GRaT WIRA & ferw sAfa staves €177 e it gfte wifsr)

YRt 2T9eT o= o forg foh=i 9 adishl &t S it | 3x1=

3M9eT & = | SI9el Yol Ao foh e YehR THLE 1 HEg UgHd € 2 SHREAT shiferd |

I : WY WEAT 28 UE 29 o1 ST FEATAREd 31, 9 Td 9@ | W fohdt Teh 998 ¥ S

28.

29.

28.

29.

28.

g - o
“Eie w1 dedl g5 el IRd § o T o fog SaeRh ot 1w % fon =mifaa de
it |

TETE! I Site A9 & e fome sl o1 TATe Ta gl o 7 SRAT i |
g - 9
=ATRI ! Sia A197 & feru = =Tl o1 St Taen aedr o1 2 SATEAT Hifeu |

groie | SISl i e oF & foTu STEr gl IR FRehl i A HifaT |

g - 9
“grefe i Tl g5 oTeTel WRd § o T 3 foru Swierdt off 1! we W faw =t a
s
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29. Iic H AISEl i FEEl o o foTT ST fh=dl 9 SRl T AT it | 4x1=4
30. IS TGN TS T I GIRHTSA IS | NG o fohd 9T H S9eRT ST39E foha ST & 2 2+2=4
31. YR g6 T G T it w2 R 9R 5 s st 4x1=4
32, TR H JUMHA ol 3ifuek wifaenedt i € 2 =@ i | 4

33. TP U YSFIR TR Afafm 2005 Tt e & fu T Heaqul wRiwH B 1 e 4
HIfsTT |

34. WESh forawor Yorefl o wrel B % < THE FRUN hi S i | 2x2=4

35. 9Rd % faU MU qsHfae AEfes W A, B Td C A oteqv guid U ¥ | frefated gemne w6

HEdl § 38 YBAIC Ud AHfes § siferd Tom W s+ W&t 7 fafew | 3x1=3
(A) a7 & TER|
(B) THH W¥A|
(C) Haifyen fermgurd aren T4 |
3reraT
R o I AHfes W F=faiaad i e ta 376 W fafan | 3x1=3

() HOH HH TGS 6 T el T4 |
(i) RIS - TS ST |
(iii) FENTE 1 HEH R |

e : Frefafaa ue waa giestfiua faanfeial o fag yo= @@ 35 & e W E) 3x1=3
(35.1) S Te hYHR H I S ol 99 o1 AW ford |
(35.2) fameiiaret Tt Sem el eTafed € ?
(35.3) o %1 e e forg T | €2
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